


+ T EEF &
o) &) ® @ ® ® @ ® @ | AFt | &
whw | sk | gk | R TR I s | s | ks s
¢ 50 ¢ 50 ¢ 20 ¢ 20 ¢ 50 ¢ 50 ¢ 50~ ¢ 20 ¢ 50
HOH | dGH 19 | HOH 397 | df 397 | HUE oR19|HUH GR10|HIE 39T AUE 19| H0E 397
SISO L | t=5cm 389.2 66.2 64.6 8.0 528.0 530
HEEROIT T | t=10cm 20.2 10.0 12.0 42.2 42
SRR I
L 0.20BH | t=10cmPh F 116.4 6.1 16.4 19.0 3.0 4.5 70.5 3.0 2.0 240.9 241
Bt 1) 0.20BH 105.9 5.2 14.0 21.8 3.8 5.1 23.3 1.1 2.3 182.5 180
mET (et | 0.20BH 29.7 1.5 4.3 4.2 1.4 41.1 41
mEr et | 0.20BH 36.1 1.5 4.1 11.2 1.4 3.4 1.6 59.3 59
Bty T FAE T+ 65.8 3.5 9.4 9.4 2.2 1.3 23.3 1.1 0.5 116.5 117
AT AS 5.8 0.6 0.8 1.0 0.3 0.3 3.5 0.2 0.1 12.6 13
P IARAT
TRERAET| t=19cm 116.4 16.4 19.0 70.5 2.0 224.3 224
FIAEIARA
TRERAET |  t=20cm 6.1 3.0 4.5 3.0 16.6 17
AR
FEBET] t=15cm 116.4 16.4 19.0 70.5 2.0 224.3 224
A AR
FEBET] t=18cm 6.1 3.0 4.5 3.0 16.6 17
BAERRET 2=
FeJE 1. (#5H) | t=5cm PK3 116.4 16.4 19.0 70.5 2.0 224.3 224
FARRIE T A=
#J8 L (#H) | t=7cm PK3 6.1 3.0 4.5 3.0 16.6 17




IERAERTER

o 1 .

i W B nEE | T £k G
@ | faKE HLH HIVP ¢ 50 0.90  |66.0+128.0 194.00
@ | faKE HE #19 | HIVP ¢ 50 0.90  |4.9+5.2 10.10
@ |aKEAT HLH HIVP ¢ 20 27.40
@ KB HLH HIVP ¢ 20 1977 X 1.0m 19.00
® |yraftokts]  HIE 19 1.10  |2f&Fr X1 2.00

oy KR
® | Fxv7 HjE 219 1.20  |2f&FT X 1.5 3.00
O FERERE HIE ¢ 20~ ¢ 50 235.00
(R EHEE| HhE 5219 4.9+5.2 10.10
©@ | HE 1.20  |2f&FT <1 2.00




+ITHEE
HijE 397
KEIKE

HIVP ¢ 50 DP=0.9m

)
EREER FKE KpidEs]l 091 m
EEERRUR 0.05 m MR 026 m BT
BIEOEE 0.060 m MawdieE 031 m AT
AR BHMR 0.060 m BAE 019 m BB
PR 060 m BAE 015 m  ERE
AS 0.05 m
e BN S 194.00 194.00
AHEERR BT T
t=5cm 194.00 2 + 0.60 X 2 389.2
AREE IR EUE T
As t=10ecmPL T 194.00 0.60 = 116.4
PR I T
194.00 0.60 X 0.91 = 105.9
HET (&E+)
0.60 0.26 - 0.060 2
r = 4 ) X 194.00 = 29.7
HET 84+)
194.00 0.60 X 0.31 = 36.1
sy TR E)
105.9 36.1 - 0.9 = 65.8
¥ 40553 T(AS)
116.4 0.05 = 5.8
T A T
FEYLAREA t=19cm 194.00 0.60 = 116.4
RC-40
JE T
AR FNG t=15cm 194.00 0.60 = 116.4
RM-40
#FET
BRI EET 232 t=5cm 194.00 0.60 = 116.4

PK—3




T TREE
wE19
i KA AT R

HIVP ¢ 50 DP=0.9m

PK—3

&)
RSB HIVP ¢ 50 KEpidEs]  0.86 m
AR 0.10 m KSR 0.26 m BB+
BIFOEE 0.060 m MR 025 m AT
BHME 0.060 m BAE 020 m FiBKE
AR RHIE 0.60 m BAE 018 m B
AS 0.07 m
PEHIAE & 10.10 10.10
SEEERRYI T T
t=10cm 10.10 2 = 20.2
S HERR R T
As t=10cmLL T 10.10 0.60 = 6.1
AR T
10.10 0.60 X 0.86 = 5.2
HMET kol R+)
0.60 0.26 - 0.060 2
r < 4 X 10.10 = 1.5
HET 84+)
10.10 0.60 X 0.25 = 1.5
A T84T 54
5.2 1.5 - 0.9 = 3.5
P 4055 T(AS)
6.1 0.10 = 0.6
T A T
FEYLAREA t=20cm 10.10 0.60 = 6.1
RC-40
e T
FARFRFE t=18cm 10.10 0.60 = 6.1
RM-40
FEL
BRI EET 232 t=Tcm 10.10 0.60 = 6.1




T THEE

HiE 397
AR
HIVP ¢ 20mm
®
TR FaKE HdEEl 085 m
EEERRUR 0.05 m R 026 m B+
BIEOEE 0.020 m MR 025 m AT
AR BHMR 0.026 m BAE 019 m BB
PR 060 m BAE 015 m  ERE
AS 0.05 m
e BN S 27.40 27.40
AHEERR BT T
t=5cm 27.40 X 2 + 0.60 X 19 = 66.2
AREE IR EUE T
As t=10cmPLF 27.40 X 0.60 = 16.4
PR I T
27.40 X 0.60 X 0.85 = 14.0
HET (&E+)
( 0.60 X 0.26 - 0.026 2
X 7 = 4 ) X 27.40 = 4.3
HERET (4L
27.40 X 0.60 X 0.25 = 4.1
sy TR E) $/f
14.0 - 4.1 - 0.9 = 9.4
¥ 40553 T(AS)
16.4 X 0.05 = 0.8
TE R T
FAEYLARE t=19cm 27.40 X 0.60 = 16.4
RC-40
JE T
PR TG t=15cm 27.40 X 0.60 = 16.4
RM-40
#FET
AR T 22 t=5cm 27.40 X 0.60 = 16.4
PK—3




T TERE

HjE 3974

fa /K Bt
HIVP20mm  19f& A

@
BB HIVP ¢ 20 HEdEs] 115 m
SHLE RS 0.05 m KSR 022 m RoRtkB
BIFOEE 0.020 m MR 059 m AT
BHME 0.026 m BAaE 019 m  FERE
AR RHIE 1.00 m BAE 015 m B
AS 0.05 m
PEHIAE & 19.00 19.00
SEEERRYI T T
t=>5cm 1.00 X 4 - 0.60 )X 19 = 64.6
S HERR R T
As t=10cmLL T 19.00 X 1.00 = 19.0
AR T
1.00 X  1.15 - 0.026 2
X T = 4) X 19.00 = 21.8
HET CholkiR+)
1.00 X 0.22 - 0.026 2
X 7 = 4) X 19.00 = 4.2
HET 84+)
19.00 X 1.00 X 0.59 = 11.2
B A5y T34 1) 7+
21.8 - 112 = 0.9 = 9.4
¥ 40553 T(AS)
19.0 X 0.05 = 1.0
T A T
FAEYLARE t=19cm 19.00 X 1.00 = 19.0
RC-40
e T
FERIFIE t=15cm 19.00 X 1.00 = 19.0
RM-40
FET
BRI EET 232 t=5cm 19.00 X 1.00 = 19.0

PK—3




T TREE

#1819
WANIZBE AW S
®
EREER KpidEs] 132 m
AR 0.10 m KSR 052 2m BB+
BIEOEE 0.300 m MR 045 m AT
BHME 0.323 m BAE 020 m FiBKE
AR RHIE 1.50 m BAE 018 m B
AS 0.07 m
PEHIAE & 2.00 2.00
SEEERRYI T T
t=10cm 1.50 4 + 1.0 X 4 10.0
S HERR R T
As t=10cmLL T 2.00 1.50 = 3.0
AR T
1.50 1.32 - 0.323 2
7 = 4 ) X 2.00 = 3.8
HET CholkiR+)
1.50 0.52 - 0.323 2
7 =+~ 4 ) X 2.00 = 1.4
HET 84+)
2.00 1.50 X 0.45 = 1.4
B A5y T34 1) 7+
3.8 1.4 - 0.9 = 2.2
¥ 40553 T(AS)
3.0 0.10 0.3
T A% T
FEYLAREA t=20cm 2.00 1.50 3.0
RC-40
e T
FARFRFE t=18cm 2.00 1.50 3.0
RM-40
FET
BRI EET 232 t=Tcm 2.00 1.50 3.0

PK—3




T TREE

#1819
Sy KFE v
¢ 50mm
®
EREER FeAgAmEl 113 m
AR 0.07 m B 0.00 m Rk B 1+
BIEOEE 0.000 m MR 075 m AT
EOE 0.000  m BAE 020 0 9m FEE
AR RHIE 1.50 m BAE 018 m B
AS 0.07 m
PEHIIE & 3.00 3.00
SEEERRYI T T
t=10cm 1.50 4 X 2 = 12.0
S HERR R T
As t=10cmLL T 3.00 1.50 = 4.5
HEM I T
3.00 1.50 X 1.13 = 5.1
HMET (G84£1)
3.00 1.50 X 0.75 = 3.4
A TG4 5
5.1 3.4 - 0.9 = 1.3
¥ ALy T(AS)
4.5 0.07 = 0.3
T AR T
FAEYIARER t=20cm 3.00 1.50 = 4.5
RC-40
LJE AR T
FARFG t=18cm 3.00 1.50 = 4.5
RM-40
FEL
FABRIET A3 t="Tcm 3.00 1.50 = 4.5

PK—3




+ TEEE

HiE 397
IR E R E
HIVP ¢ 20mm~50mm
@
AR AR PP KepidEs] 034 m
EERRE 0.05 m B 0.00 m kBT
BIEOEE 0.060 m MR 000 m HAET
AR BHMR 0.060 m BAE 019 m BB
PR 030 m BAE 015 m  ERE
AS 0.05 m
e BN S 235.00 235.00 m
f ol U T
As t=5cmPL T 235.00 X  0.30 = 70.5 m
R T
0.30 X 0.34 - 0.060 2
X T — 4) X 235.00 = 23.3 m’
A TG4 1) A1 ,
23.3 - 0.0 - 0.9 = 23.3 m’
¥ ALy T(AS) 4
70.5 X 0.05 = 3.5 m’
T A T
HAYARE t=19cm 235.00 X  0.30 = 70.5
RC-40
JE AR T
HARRFG t=15cm 235.00 X  0.30 = 70.5
RM-40
FE T
P REET A2 t=5cm 235.00 X  0.30 = 70.5

PK—3




T THEE

#1819
G
PP ¢ 50mm
®
AR AR PP KEpidEs]  0.38  m
AR 0.07 m MR 000 m BTt
BIEOEE 0.060 m MR 000 m HAET
AR BHMR 0.060 m Bz 020 m  FERE
PR 030 m BAE 018 m  HERE
AS 0.07 m
e BN S 10.10 10.10 m
S LR R T
As t=10ecmLL T 10.10 0.30 = 3.0 m
AR T
0.30 0.38 - 0.060 2
r = 4) X 10.10 = .1 m
A TG4 1) A1 ,
1.1 0.0 - 0.9 = 1.1 m
¥ ALy T(AS) 4
3.0 0.07 = 0.2 m
T A% T
FAEYLAREA t=20cm 10.10 0.30 = 3.0 o
RC-40
JE AR T
FARFG t=18cm 10.10 0.30 = 3.0 o
RM-40
#ET
AR EET A2 t="Tem 10.10 0.30 = 3.0 m

PK—3




T THEE

HiE 397
il 7K R
©)
TR KepidEsl 115 m
EEERRUR 0.05 m MR 000 m BTt
BIEOME m HEEERE  0.81 m 4+
BHME m BAE 019 m BB
PR 1.00 m BAE 015 m  ERE
AS 0.05 m
e BN S 2.00 2.00
AHEERR BT T
t=5cm 1.00 4 X 2 8.0
AREE IR EUE T
As t=5cmlLF 2.00 1.00 = 2.0
PR I T
2.00 1.00 X 1.15 = 2.3
HET (84+)
2.00 1.00 X 0.81 = 1.6
sy TR E) $/h
2.3 1.6 - 0.9 = 0.5
¥ 4055 T(AS)
2.0 0.05 = 0.1
IEF AR
FEYIANEE t=19cm 2.00 1.00 = 2.0
RC-40
JE AR T
FERTEE t=15cm 2.00 1.00 = 2.0
RM-40
#FET
BRI EET 232 t=5cm 2.00 1.00 = 2.0

PK—3







OB L H 1% & 7
gAY =V E R L ¢ 20 36.9 m
gAY =V E L ¢ 50 204.1 m
A N A\ - =S V. DIP ¢ 300X ¢ 50 2 &) FIT
/2 IS S/ N - < V. HIVP ¢ 50X ¢ 20 19 50
= 7 H it T ¢ 50 2 (=B
SR/ N - SV U - SR ¢ 13 3 & T
SR/ N - SV R - SR ¢ 20 16 & T
7 U VRV S I = M ¢ 50 4 |
7 U VRV S I = M ¢ 65 2 |
kK & HB f T ¢ 50 4 & A
g W oor ¥y — b+ T 241.0 m




4k
F

Gka7K

garan

)



BERR Hefot ZIEHFET A—H—EC
BRIk
19 0 0
¢ 13 ¢ 20 $25 30
(Hl\j?jf%;%%\‘/f 0.00 36.90 0.00 0.00
IVRETFRER) ¢ 10 ¢ 50
0.00 204.10
FaKHBHE R R
MR Bk =) T
H I \Y% p e g 41;11)1:
¢ 20 7 27.4
25 0 0.0
30 0 0
40 0 0
¢ 50 52 202.50
n 1 v - > k T - r
20 0
¢ 25 0
¢ 30 0
40 0
650 52
H I = »n» =& T . b
¢ 20 38
¢ 25 0
¢ 30 0
¢ 40 0
¢ 50 6
H O~ v k22 ° S5 . o
H X v F 45 ° 5 :
HI F — 2 - )
7 v x v 7 o E i o 0.5m/4
$ 25 0
0.8m/A
$ 30 0
$ 40 0
50 5




faAKM MR AR

R, i 2B L
FHWY 7 b — AL 85 30 0 ’
40 0
50 4
s v H 2 i 4 ’
Hhat 0
i 0
R c JAE a R 4 .
ke = — v & (VU 6200 4 )
R oLy kR DIP ¢ 300 X 50 2 ’
HIVP ¢ 50 X 20 19
Ny NEEE (B G D) 5 7
Mok T T — ¢ 65 2 i
'oE WYy oy b ¢ 65 X 50 2 ’
HI XV 7 Y 7 v bk b 50 2 7
ok x ox v 7 650 2 /f
%o R v — h i 241.0 N




%

GAREM R —T

. o 5 o L7 . o | e e — A —R . o e
i o FRLaARR | | HIVP(R) | HIVPGK) | v7oh | =adeo 22 45 Ty |y | i | FEEIE L svie e [P0 | ik | sk Sk ok
* n BTk
po A
B k475 - AEHE | nee | om | onee | omo | onm | om | onge | msc| one | msc | cones| m | | g nee | | e | | nes || nee | el ones || | onee || e | | nes | | o | e
@ 20 | 20 R 50x20 | 1 20 |20 | 20 [ 0.0 20 |20 |2 | o 2 2 20 | 1] 20 20 | 0
® 20 | 20 B 50x20 | 1 20 |20 | 20 [ 0.0 20 |20 |2 | o 2 2 20 | 1] 20 20 | 0
® 20 | 20 B 50x20 | 1 20 |20 | 20 [ 0.0 20 |20 |2 | o 2 2 20 | 1] 20 20 | 0
@ 20 | 20 BER% 50x20 | 1 20 |20 | 20 [ 0.0 20 |20 |2 | o 2 2 20 | 1] 20 20 | 0
® 20 | 13 R 50x20 | 1 20 |20 | 20 [ 0.0 20 |20 |2 | o 2 2 20 | 1] 20 20 | 0
® 20 | 20 R 50x20 | 1 20 |20 | 20 [ 0.0 20 |20 |2 | ol 2 2 20 | 1] 20 20 | 0
©) 20 | 20 i 50x20 | 1 20 | 1.2 | 20 | 00 20 |12 |2 | o | 20 2 20 | 1 | 20 20 | 0
20 | 20 BER% 50%20 | 1 20 | 1.2 | 20 | 00 20 |12 |20 | o | 20 2 20 | 1 | 20 20 | 0
©) 20 | 20 i 50x20 | 1 20 | 1.1 | 20 | 00 20 | 11|20 | o | 20 2 20 | 1 | 20 20 | 0
20 | 20 BER% 50%20 | 1 20 | 1.1 | 20 | 00 20 | 11| 20| o | 20 2 20 | 1 | 20 20 | 0
() 20 | 20 BER% 50%20 | 1 20 | 11 ] 20 | 00 20 | 11|20 | o | 20 2 20 | 1 | 20 20 | 0
® 20 | 20 BER% 50%20 | 1 20 | 12 ] 20 | 00 20 |12 |2 | o | 20 2 20 | 1 | 20 20 | 0
® 20 13 BER% 50%20 | 1 20 | 12 ] 20 | 00 20 |12 |2 | o | 20 2 20 | 1 | 20 20 | 0
20 | 20 BERR 50X20 | 1 20 | 13| 20 | 0.0 20 |13 20| o | 20 2 20 | 1 | 20 20 | 0
®» 20 | 20 BER% 50X20 | 1 20 | 12| 20 | 00 20 |12 20| o | 20 2 20 | 1 | 20 20 | o0
20 | 20 BERR 50X20 | 1 20 | 12| 20 | 00 20 |12 20| o | 20 2 20 | 1 | 20 20 | 0
() 20 | 20 BER% 50X20 | 1 20 | 12| 20 | 00 20 |12 20| o | 20 2 20 | 1 | 20 20 | o0
20 | 20 BERR 50X20 | 1 20 | 12| 20 | 00 20 |12 20| o | 20 2 20 | 1 | 20 20 | 0
20 13 BERR 50X20 | 1 20 | 12| 20 | 00 20 |12 20| o | 20 2 20 | 1 | 20 20 | 0
HIVPIE R () | @ fg(')“ ¢ jg(')“ 500K%) | 202.5 50 50 50 | 52 | 50 6 50 50 | 2 | 50 | 2 | 50 50 | o | 50| 4 | 50| a4 |4 5 | 0
7?%&}2‘%? PRSI remr 9.5 13 |00 | 13 13 oo | 13| o0 |13 0 13 3o | 13] -] 13 13 o | a4 |4 |13 13 13 13
LR HE | dE HIZ20 27.4 20 |27.4 | 20 20 |274 | 20| o | 20 38 20 20 | o | 20 | 19 | 20 20 200 | & | o | o | 20 20 20 20
WER Hiehoe 0 19 50X20 | 19 25 | 0.0 25 25 00 | 25 | 0 25 0 25 25 | 0 25 | 0 25 25 25 | 0 || o 0 25 25 25 25
ZAEHETHE 0 0 30 | 0.0 | 30 30 |00 |30 ] 0o | 30 0 30 30 | 0 | 30| 0 | 30 30 30 | 0 30 30 30 30
A—p—ETH R 0 0 40 | 0.0 | 40 0 |00 | 40 | 0o | 40 0 40 0 | 0o | 4 [ o | 40 40 0 | o 10 10 10
FAKE P T 13 13 3f& AT 50 | 0.0 50 50 00 | 50 [ 0 50 0 50 50 | 0 50 | 0 50 50 50 | o 50 50 50
FKE VR T 20 20 166 AT 7 19 o274 | F i 274 | & 52 | 3 44 7 7 2 7 21 7 7 7 4 i 4 4 7 i 7 7




S —NEHF#E

w £ HIVP ¢ 50mm HIVP ¢ 20mm
EAMRILR 204.1 36.9
T kAR B R 0 0
0.664 0.664 0.664
MoB K 204.1 36.9 0 241.000
- ) 204.1 36.9 0.0 241.0




it = &



BEEE

PP ¢ 20~ ¢ 50mm
[C A B 1% ¥oo& | B 7
WMEEmETFHEATL PP ¢ 20 33.0 m
WMEEmETFHEATL PP ¢ 50 202.0 m
e %= & U W L PP ¢ 20 9 N
= & W W T PP ¢ 50 59 N
M = B E W & 4t 1=25kmLL T [
e = ' WL 4 % 0.8 el




T A7 7 VNI EK B R E

wete | o | | | W%
3cm 0.078 0.0000
4cm 0.104 0.0000
S5cm 0.130 528.0 0.6864
6cm 0.152 0.0000
7cm 0.174 0.0000
10cm 0.240 42.2 0.0768
Ilcm 0.262 0.0000
15cm 0.350 0.0000
19cm 0.438 0.0000
20cm 0.460 0.0000
25cm 0.570 0.0000
26cm 0.592 0.0000
30cm 0.680 0.0000

A 570.2 0.7632
eo) 0.76




